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Mathematics 121/1,121/2

24. During installation of electricity bulbs in street lighting, a dealer is required to supply two types of bulbs A and B. The

total number of bulbs should not be more than 400. He must supply more of A than B and type A bulbs should not be

more than 300 and B should not be less than 80.

(a) Write down in terms of x and y all inequalities representing the information above. (3mks)

(b) On the grid provided draw all the inequalities and shade the unwanted region. (4mks)

(c) Iftype A costs Kshs. 450 per piece and B Kshs. 350 per piece and that the higher the cost the higher the profit:

(i) Use the graph to determine the number of each type of bulb that he should supply to maximize profit. (1mk)

(ii) Calculate the maximum cost of lighting the streets. (2mks)
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